

POSITIVE SOLUTIONS OF A NONLINEAR HIGHER ORDER BOUNDARY-VALUE PROBLEM

JOHN R. GRAEF

Department of Mathematics
University of Tennessee at Chattanooga,
Chattanooga, TN 37403, USA

LINGJU KONG

Department of Mathematics
University of Tennessee at Chattanooga,
Chattanooga, TN 37403, USA

BO YANG

Department of Mathematics and Statistics
Kennesaw State University,
Kennesaw, GA 30144, USA

ABSTRACT. The authors study a higher order three point boundary value problem. Estimates for positive solutions are given; these estimates improve some recent results in the literature. Using these estimates, new sufficient conditions for the existence and nonexistence of positive solutions of the problem are obtained. An example illustrating the results is included.

1. Introduction. In 1998, Ma [18] considered the second order boundary value problem

$$u''(t) + a(t)f(u(t)) = 0, \quad 0 \leq t \leq 1, \quad (1)$$

$$u(0) = 0, \quad \alpha u(\eta) = u(1), \quad (2)$$

and gave sufficient conditions under which this problem has at least one positive solution. In 2007, Guo, Sun, and Zhao [11] studied the same question for the third order boundary value problem

$$u'''(t) + h(t)f(u(t)) = 0, \quad 0 \leq t \leq 1, \quad (3)$$

$$u(0) = u'(0) = 0, \quad u'(1) = \alpha u'(\eta). \quad (4)$$

Motivated by these works, we consider the nonlinear n -th order ordinary differential equation

$$u^{(n)}(t) + g(t)f(u(t)) = 0, \quad 0 \leq t \leq 1, \quad (5)$$

subject to boundary conditions

$$u^{(i)}(0) = 0, \quad 0 \leq i \leq n-2, \quad \alpha u^{(n-2)}(\eta) = u^{(n-2)}(1), \quad (6)$$

where

2000 *Mathematics Subject Classification.* Primary: 34B18.

Key words and phrases. Existence and nonexistence of positive solutions; Guo-Krasnosel'skii fixed point theorem; higher order boundary value problem.

- (H1) $n \geq 3$ is a fixed integer, α and η are constants such that $0 < \eta < 1$ and $1 < \alpha < 1/\eta$, and
- (H2) $f : [0, \infty) \rightarrow [0, \infty)$ and $g : [0, 1] \rightarrow [0, \infty)$ are continuous, and $g(t) \not\equiv 0$ on $[0, 1]$.

Our interest here is in obtaining positive solutions to this boundary-value problem, that is, solutions $u(t)$ of (5)–(6) such that $u(t) > 0$ for $t \in (0, 1)$.

The importance of boundary-value problems in a wide variety of applications in the physical, biological and engineering sciences is now well documented in the literature, and in the last ten years this has become an extremely active area of research. The monographs of Agarwal [1] and Agarwal, O'Regan, and Wong [3] contain excellent surveys of known results. More recent contributions to the study of multipoint boundary-value problems can be found in the papers of Agarwal and Kiguradze [2], Anderson and Davis [4], Cao and Ma [5], Graef, Qian, and Yang [6, 7], Graef and Yang [8, 9], Hu and Wang [12], Infante [13], Infante and Webb [14], Kong and Kong [15], Ma [17, 18, 19], Maroun [20], Raffoul [21], Webb [22, 23], and Zhou and Xu [24].

We need the indicator function I to write the expression of the Green's function for the problem (5)–(6). Recall that if $[a, b] \subset R := (-\infty, +\infty)$ is a closed interval, then the indicator function I of $[a, b]$ is given by

$$I_{[a,b]}(t) = \begin{cases} 1, & \text{if } t \in [a, b], \\ 0, & \text{if } t \notin [a, b]. \end{cases}$$

Let $G_2 : [0, 1] \times [0, 1] \rightarrow [0, \infty)$ be defined by

$$G_2(t, s) = \frac{t(1-s)}{1-\alpha\eta} - \frac{\alpha t(\eta-s)}{1-\alpha\eta} I_{[0,\eta]}(s) - (t-s)I_{[0,t]}(s).$$

According to Ma [18], G_2 is the Green's function for the boundary value problem (1)–(2). For $n \geq 3$, we define

$$G_n(t, s) = \int_0^t G_{n-1}(v, s)dv, \quad (t, s) \in [0, 1] \times [0, 1].$$

Then, for $n \geq 3$, $G_n(t, s)$ is the Green's function for the equation

$$u^{(n)}(t) = 0$$

subject to the boundary conditions (6). Moreover, solving the problem (5)–(6) is equivalent to finding a solution to the integral equation

$$u(t) = \int_0^1 G_n(t, s)g(s)f(u(s)) ds, \quad 0 \leq t \leq 1.$$

It is obvious that

$$G_n(t, s) > 0, \quad \text{for } t, s \in (0, 1) \text{ and } n \geq 3.$$

Throughout this paper, we let

$$\begin{aligned} F_0 &= \limsup_{x \rightarrow 0^+} (f(x)/x), & f_0 &= \liminf_{x \rightarrow 0^+} (f(x)/x), \\ F_\infty &= \limsup_{x \rightarrow +\infty} (f(x)/x), & f_\infty &= \liminf_{x \rightarrow +\infty} (f(x)/x). \end{aligned}$$

To prove our results, we will use the following fixed point theorem known as the Guo-Krasnosel'skii fixed point theorem [10, 16].

Theorem 1.1. *Let X be a Banach space over the reals, and let $P \subset X$ be a cone in X . Assume that Ω_1 and Ω_2 are bounded open subsets of X with $0 \in \Omega_1 \subset \overline{\Omega_1} \subset \Omega_2$, and let*

$$L : P \cap (\overline{\Omega_2} - \Omega_1) \rightarrow P$$

be a completely continuous operator such that either

(K1) $\|Lu\| \leq \|u\|$ for $u \in P \cap \partial\Omega_1$ and $\|Lu\| \geq \|u\|$ for $u \in P \cap \partial\Omega_2$, or

(K2) $\|Lu\| \geq \|u\|$ for $u \in P \cap \partial\Omega_1$ and $\|Lu\| \leq \|u\|$ for $u \in P \cap \partial\Omega_2$.

Then L has a fixed point in $P \cap (\overline{\Omega_2} - \Omega_1)$.

The next section contains some preliminary lemmas; our main results appear in Sections 3 and 4.

2. Preliminary lemmas. The following lemmas will be used in the proofs of our main results.

Lemma 2.1. *If $u \in C^n[0, 1]$ satisfies the boundary conditions (6) and*

$$u^{(n)}(t) \leq 0 \quad \text{for } 0 \leq t \leq 1, \quad (7)$$

then for each $i = 0, 1, 2, \dots, n-2$, we have

$$u^{(i)}(t) \geq 0 \quad \text{for } 0 \leq t \leq 1. \quad (8)$$

Proof. If we define $w(t) = u^{(n-2)}(t)$ for $0 \leq t \leq 1$, then we have

$$\begin{aligned} w''(t) &\leq 0 \quad \text{for } 0 \leq t \leq 1, \\ w(0) &= 0, \quad \alpha w(\eta) = w(1). \end{aligned}$$

Therefore,

$$u^{(n-2)}(t) = w(t) = \int_0^1 G_2(t, s)(-w''(s)) \, ds \geq 0, \quad 0 \leq t \leq 1.$$

Since $u(0) = u'(0) = \dots = u^{(n-3)}(0) = 0$, we have

$$u^{(i)}(t) \geq 0 \quad \text{for } 0 \leq t \leq 1 \text{ and } i = 0, 1, \dots, n-3,$$

which completes the proof of the lemma. \square

The next two lemmas give estimates on the growth of $u(t)$.

Lemma 2.2. *If $u \in C^n[0, 1]$ satisfies (6) and (7), then*

$$u(t) \geq t^{n-1}u(1) \quad \text{for } 0 \leq t \leq 1.$$

Proof. If we define

$$h(t) = u(t) - t^{n-1}u(1), \quad 0 \leq t \leq 1, \quad (9)$$

then

$$h^{(n)}(t) = u^{(n)}(t) \leq 0, \quad 0 \leq t \leq 1. \quad (10)$$

To prove the lemma, it suffices to show that $h(t) \geq 0$ for $0 \leq t \leq 1$. It is easy to see from (9) that

$$h(0) = h'(0) = \dots = h^{(n-2)}(0) = h(1) = 0.$$

Since $h(0) = h(1) = 0$, by the Mean Value Theorem, there exists $r_1 \in (0, 1)$ such that $h'(r_1) = 0$. Similarly, $h'(0) = h'(r_1) = 0$ implies that there exists $r_2 \in (0, r_1)$ such that $h''(r_2) = 0$. Continuing this procedure, we can find a sequence of numbers

$$1 > r_1 > r_2 > \dots > r_{n-2} > 0$$

such that

$$h^{(i)}(r_i) = 0, \quad 1 \leq i \leq n - 2.$$

Since

$$h^{(n)}(t) \leq 0 \quad \text{for } 0 \leq t \leq 1, \tag{11}$$

$h^{(n-2)}$ is concave downward on $(0, 1)$. Since $h^{(n-2)}(0) = h^{(n-2)}(r_{n-2}) = 0$, we have

$$h^{(n-2)}(t) \geq 0 \quad \text{on } [0, r_{n-2}] \quad \text{and} \quad h^{(n-2)}(t) \leq 0 \quad \text{on } [r_{n-2}, 1].$$

Since $h^{(n-3)}(0) = h^{(n-3)}(r_{n-3}) = 0$, we have

$$h^{(n-3)}(t) \geq 0 \quad \text{on } [0, r_{n-3}] \quad \text{and} \quad h^{(n-3)}(t) \leq 0 \quad \text{on } [r_{n-3}, 1].$$

If we continue this procedure, we finally obtain

$$h'(t) \geq 0 \quad \text{on } [0, r_1] \quad \text{and} \quad h'(t) \leq 0 \quad \text{on } [r_1, 1]. \tag{12}$$

Combining (12) with the fact that $h(0) = h(1) = 0$ yields

$$h(t) \geq 0 \quad \text{for } 0 \leq t \leq 1,$$

which completes the proof of the lemma. □

Lemma 2.3. *If $u \in C^n[0, 1]$ satisfies (6) and (7), then*

$$u(t) \leq t^{n-3}u(1) \quad \text{for } t \in [0, 1].$$

Proof. If we define

$$h(t) = t^{n-3}u(1) - u(t), \quad t \in [0, 1], \tag{13}$$

then

$$h^{(n)}(t) = -u^{(n)}(t) \geq 0, \quad 0 \leq t \leq 1. \tag{14}$$

To prove the lemma, it suffices to show that $h(t) \geq 0$ for $0 \leq t \leq 1$. It is easy to see from (13) that

$$h(0) = h'(0) = \dots = h^{(n-4)}(0) = h(1) = 0.$$

By the Mean Value Theorem, in view of the fact that $h(0) = h(1) = 0$, there exists $r_1 \in (0, 1)$ such that $h'(r_1) = 0$. Because $h'(0) = h'(r_1) = 0$, there exists $r_2 \in (0, r_1)$ such that $h''(r_2) = 0$. If we continue his procedure, then we can find a sequence of numbers

$$1 > r_1 > r_2 > \dots > r_{n-3} > 0$$

such that

$$h^{(i)}(r_i) = 0, \quad 1 \leq i \leq n - 3.$$

We can also see from (13) that

$$h^{(n-2)}(0) = 0, \quad \alpha h^{(n-2)}(\eta) = h^{(n-2)}(1).$$

Therefore, we have

$$h^{(n-2)}(t) = \int_0^1 G_2(t, s)(-h^{(n)}(s)) ds \leq 0, \quad 0 \leq t \leq 1.$$

This means that $h^{(n-3)}(t)$ is nonincreasing. Since $h^{(n-3)}(r_{n-3}) = 0$, we have

$$h^{(n-3)}(t) \geq 0 \quad \text{on } [0, r_{n-3}] \quad \text{and} \quad h^{(n-3)}(t) \leq 0 \quad \text{on } [r_{n-3}, 1].$$

Since $h^{(n-4)}(0) = h^{(n-4)}(r_{n-4}) = 0$, we have

$$h^{(n-4)}(t) \geq 0 \quad \text{on } [0, r_{n-4}] \quad \text{and} \quad h^{(n-4)}(t) \leq 0 \quad \text{on } [r_{n-4}, 1].$$

Continuing in this way, we finally obtain

$$h'(t) \geq 0 \quad \text{on } [0, r_1] \quad \text{and} \quad h'(t) \leq 0 \quad \text{on } [r_1, 1]. \tag{15}$$

Combining (15) with the fact that $h(0) = h(1) = 0$ yields

$$h(t) \geq 0 \quad \text{for } 0 \leq t \leq 1,$$

which completes the proof of the lemma. \square

The next theorem is an immediate consequence of Lemmas 2.1, 2.2, and 2.3.

Theorem 2.4. *If $u \in C^n[0, 1]$ satisfies (6) and (7), then $0 \leq u(t) \leq u(1)$ for $0 \leq t \leq 1$, and*

$$t^{n-3}u(1) \geq u(t) \geq t^{n-1}u(1) \quad \text{for } 0 \leq t \leq 1. \quad (16)$$

In particular, if $u(t)$ is a nonnegative solution to the problem (5)–(6), then $u(t)$ satisfies (16).

Note that Theorem 2.4 provides both an upper and a lower estimate to each positive solution to the problem (5)–(6).

Guo, Sun, and Zhao [11] obtained the following result.

Lemma 2.5. *Let $1 < \alpha < 1/\eta$. Then*

$$0 \leq G_3(t, s) \leq q(s) \quad \text{for all } (t, s) \in [0, 1] \times [0, 1]$$

and

$$\gamma q(s) \leq G_3(t, s) \quad \text{for all } (t, s) \in [\eta/\alpha, \eta] \times [0, 1],$$

where $0 < \gamma = \frac{\eta^2}{2\alpha^2(1+\alpha)} \min\{\alpha - 1, 1\} < 1$, and

$$q(s) = \frac{1 + \alpha}{1 - \alpha\eta} s(1 - s), \quad s \in [0, 1]. \quad (17)$$

Remark 2.6. Each time we obtain a pair of upper and lower estimates, we face the question of the sharpness of these estimates. We propose to use a ratio – the ratio of the L^1 norm of the upper estimate on solutions to the L^1 norm of the lower estimate – as a measure of the sharpness. If the ratio is very large, then the gap between the lower and upper estimates is large, and so this indicates that there is room for improvement.

Based on our results in Theorem 2.4, we see that

$$\frac{u(1)}{n} = \int_0^1 t^{n-1}u(1) dt \leq \int_0^1 u(t) dt = \int_0^1 t^{n-3}u(1) dt = \frac{u(1)}{n-2},$$

and so the ratio in our case is $n/(n-2)$.

In order to make a comparison to the results of Guo, Sun, and Zhao above, first note that we must compare with the case of $n = 3$ in our problem. Moreover, their estimates are on the Green's function not the solutions. The ratio of their upper estimate $q(s)$ to their lower estimate $\gamma q(s)$ on $G(t, s)$ gives

$$\frac{1}{\gamma} = \frac{2\alpha^2(1 + \alpha)}{\eta^2 \min\{\alpha - 1, 1\}},$$

and that this ratio $1/\gamma$ depends on the parameters α and η . In order to interpret this in terms of the solutions, observe that

$$u(t) = \int_0^1 G_3(t, s)g(s)f(u(s)) ds \leq \int_0^1 q(s)g(s)f(u(s)) ds$$

for $t \in [0, 1]$. Also,

$$u(t) \geq \gamma \int_0^1 q(s)g(s)f(u(s)) ds$$

for $t \in [\eta/\alpha, \eta]$. Therefore,

$$\int_0^1 u(\tau) d\tau \leq \int_0^1 q(s)g(s)f(u(s)) ds, \tag{18}$$

and

$$\int_0^1 u(\tau) d\tau \geq \int_{\eta/\alpha}^{\eta} u(\tau) d\tau \geq (\eta - \eta/\alpha)\gamma \int_0^1 q(s)g(s)f(u(s)) ds. \tag{19}$$

Thus, from (18) and (19), we have that the ratio of the L^1 norms of the upper and lower bounds on the solutions is

$$R = \frac{1}{\gamma(\eta - \eta/\alpha)}.$$

For example, if we let $\alpha = 11/10$ and $\eta = 9/10$, then this ratio becomes $R \approx 766.83$. That is, in this case the ratio of the L_1 norm of the upper estimate to the solution is more than 760 times that of the lower estimate. But with $n = 3$, our result gives this ratio to be 3.

In addition to the fact that our ratio does not depend on the parameters α and η , another positive feature is that our estimates become sharper if the order of the boundary value problem increases. For example, if $n = 12$, then our upper estimate on the solution is $t^9u(1)$ and our lower estimate is $t^{11}u(1)$, and the ratio of the L_1 norms is $6/5$. This means the upper estimate is just 20% larger than the lower estimate.

3. Existence of positive solutions. We begin by introducing some notation. Define

$$A = \int_0^1 G_n(1, s)g(s)s^{n-1} ds \quad \text{and} \quad B = \int_0^1 G_n(1, s)g(s)s^{n-3} ds.$$

Let $X = C[0, 1]$ with the supremum norm

$$\|v\| = \max_{t \in [0, 1]} |v(t)|, \quad v \in X,$$

and let

$$P = \{v \in X : v(1) \geq 0, t^{n-1}v(1) \leq v(t) \leq v(1)t^{n-3} \text{ on } [0, 1]\}.$$

Clearly, X is a Banach space and P is a positive cone of X . Define the operator $T : P \rightarrow X$ by

$$Tu(t) = \int_0^1 G_n(t, s)g(s)f(u(s))ds, \quad 0 \leq t \leq 1, u \in P.$$

By a standard argument, we can show that $T : P \rightarrow X$ is a completely continuous operator. It is obvious that if $u \in P$, then $u(1) = \|u\|$. We see from Theorem 2.4 that if $u(t)$ is a nonnegative solution to the problem (5)–(6), then $u \in P$. In a similar fashion to the proof of Theorem 2.4, we can show that $T(P) \subset P$. To find a positive solution to the problem (5)–(6), we only need to find a fixed point u of T such that $u \in P$ and $u(1) = \|u\| > 0$.

We now give our first existence result.

Theorem 3.1. *If $BF_0 < 1 < Af_\infty$, then the problem (5)–(6) has at least one positive solution.*

Proof. Choose $\varepsilon > 0$ such that $(F_0 + \varepsilon)B \leq 1$. There exists $H_1 > 0$ such that

$$f(x) \leq (F_0 + \varepsilon)x \quad \text{for } 0 < x \leq H_1.$$

For each $u \in P$ with $\|u\| = H_1$, we have

$$\begin{aligned} (Tu)(1) &= \int_0^1 G_n(1, s)g(s)f(u(s)) ds \\ &\leq (F_0 + \varepsilon) \int_0^1 G_n(1, s)g(s)u(s) ds \\ &\leq (F_0 + \varepsilon)\|u\| \int_0^1 G_n(1, s)g(s)s^{n-3} ds \\ &\leq (F_0 + \varepsilon)\|u\|B \leq \|u\|, \end{aligned}$$

which means $\|Tu\| \leq \|u\|$. If we let $\Omega_1 = \{u \in X : \|u\| < H_1\}$, then

$$\|Tu\| \leq \|u\| \quad \text{for } u \in P \cap \partial\Omega_1.$$

Next we construct Ω_2 . Since $1 < Af_\infty$, we can choose $c \in (0, 1/4)$ and $\delta > 0$ such that

$$(f_\infty - \delta) \int_c^1 G_n(1, s)g(s)s^{n-1} ds > 1.$$

There exists $H_3 > 0$ such that

$$f(x) \geq (f_\infty - \delta)x \quad \text{for } x \geq H_3.$$

Let $H_2 = \max\{H_3c^{1-n}, 2H_1\}$. Now if $u \in P$ with $\|u\| = H_2$, then for $c \leq t \leq 1$, we have

$$u(t) \geq t^{n-1}\|u\| \geq c^{n-1}H_2 \geq H_3,$$

and

$$\begin{aligned} (Tu)(1) &\geq \int_c^1 G_n(1, s)g(s)f(u(s)) ds \\ &\geq (f_\infty - \delta) \int_c^1 G_n(1, s)g(s)u(s) ds \\ &\geq (f_\infty - \delta)\|u\| \int_c^1 G_n(1, s)g(s)s^{n-1} ds \geq \|u\|, \end{aligned}$$

which means $\|Tu\| \geq \|u\|$. So, if we let $\Omega_2 = \{u \in X \mid \|u\| < H_2\}$, then $\overline{\Omega_1} \subset \Omega_2$ and

$$\|Tu\| \geq \|u\| \quad \text{for } u \in P \cap \partial\Omega_2.$$

Since condition (K1) of Theorem 1.1 is satisfied, there exists a fixed point of T in P , and this completes the proof of the theorem. \square

The proof of the following theorem is similar to that of Theorem 3.1 and is therefore omitted.

Theorem 3.2. *If $BF_\infty < 1 < Af_0$, then the problem (5)–(6) has at least one positive solution.*

4. Nonexistence results and an example. In this section, we establish some nonexistence results for the positive solutions of the problem (5)–(6). We also include an example to illustrate our existence and nonexistence criteria.

Theorem 4.1. *If $Bf(x) < x$ for all $x > 0$, then the problem (5)–(6) has no positive solutions.*

Proof. Assume to the contrary that $u(t)$ is a positive solution of the problem (5)–(6). Then $u \in P$, $u(t) > 0$ for $0 < t \leq 1$, and

$$\begin{aligned} u(1) &= \int_0^1 G_n(1, s)g(s)f(u(s)) ds \\ &< B^{-1} \int_0^1 G_n(1, s)g(s)u(s) ds \\ &\leq B^{-1}u(1) \int_0^1 G_n(1, s)g(s)s^{n-3} ds = u(1), \end{aligned}$$

which is a contradiction. □

The proof of the next result is quite similar to that of Theorem 4.1, and so we omit the details.

Theorem 4.2. *If $Af(x) > x$ for all $x > 0$, then the problem (5)–(6) has no positive solutions.*

We conclude our paper with an example to show that our existence and nonexistence results are sharp.

Example 4.3. Consider the boundary-value problem

$$u^{(6)}(t) = 10t \cdot \frac{\lambda u(t)(1 + 3u(t))}{1 + u(t)}, \quad 0 < t < 1, \tag{20}$$

$$u^{(i)}(0) = 0 \text{ for } 0 \leq i \leq 4, \quad u''''(1) = (11/10) \cdot u''''(9/10), \tag{21}$$

where $g(t) = 10t$,

$$f(u) = \frac{\lambda u(1 + 3u)}{1 + u},$$

and $\lambda > 0$ is a parameter. This problem is a special case of the problem (5)–(6) in which $n = 6$, $\alpha = 11/10$, and $\eta = 9/10$. It is easy to see that $F_0 = f_0 = \lambda$, $F_\infty = f_\infty = 3\lambda$, and $\lambda u \leq f(u) \leq 3\lambda u$ for $u \geq 0$. For the problem (20)–(21), calculations show that

$$A = 52112120831/665280000000 \quad \text{and} \quad B = 87187129/756000000.$$

By Theorem 3.1, we have that if

$$4.2555 \approx \frac{1}{3A} < \lambda < \frac{1}{B} \approx 8.6710,$$

then problem (5)–(6) has at least one positive solution. By Theorems 4.1 and 4.2, we see that if either

$$\lambda < \frac{1}{3B} \approx 2.8903 \quad \text{or} \quad \lambda > \frac{1}{A} \approx 12.7664$$

then (20)–(21) has no positive solutions.

Acknowledgments. The research of J. R. Graef was supported in part by the Office of Academic and Research Computing Services of the University of Tennessee at Chattanooga.

REFERENCES

- [1] R. P. Agarwal, “Focal Boundary Value Problems for Differential and Difference Equations,” Kluwer Academic, Dordrecht, 1998.
- [2] R. P. Agarwal and I. Kiguradze, *On multi-point boundary-value problems for linear ordinary differential equations with singularities*, J. Math. Anal. Appl., **297** (2004), 131–151.
- [3] R. P. Agarwal, D. O’Regan, and P. J. Y. Wong, “Positive Solutions of Differential, Difference, and Integral Equations,” Kluwer Academic, Dordrecht, 1999.
- [4] D. R. Anderson and J. M. Davis, *Multiple solutions and eigenvalues for third-order right focal boundary-value problem*, J. Math. Anal. Appl., **267** (2002), 135–157.
- [5] D. Cao and R. Ma, *Positive solutions to a second order multi-point boundary-value problem*, Electron. J. Differential Equations, **2000**, No. 65, pp. 1–8.
- [6] J. R. Graef, C. Qian, and B. Yang, *Positive solutions of a three point boundary value problem for nonlinear differential equations*, in “Proceedings of Dynamic Systems and Applications, Vol. 4” (eds. G. S. Ladde, N. G. Medhin, and M. Sambandham), Dynamic Publishers, (2004), 431–438.
- [7] J. R. Graef, C. Qian, and B. Yang, *A three point boundary value problem for nonlinear fourth order differential equations*, J. Math. Anal. Appl., **287** (2003), 217–233.
- [8] J. R. Graef and B. Yang, *Positive solutions to a multi-point higher order boundary-value problem*, J. Math. Anal. Appl., **316** (2006), 409–421.
- [9] J. R. Graef and B. Yang *Positive solutions of a nonlinear third order eigenvalue problem*, Dynam. Systems Appl., **15** (2006), 97–110.
- [10] D. Guo and V. Lakshmikantham, “Nonlinear Problems in Abstract Cones,” Academic Press, New York, 1988.
- [11] L. Guo, J. Sun, Y. Zhao, *Existence of positive solutions for nonlinear third-order three-point boundary value problems*, Nonlinear Anal., **68** (2008), 3151–3158.
- [12] L. Hu and L. L. Wang, *Multiple positive solutions of boundary-value problems for systems of nonlinear second order differential equations*, J. Math. Anal. Appl., **335** (2007), 335 (2007), no. 2, 1052–1060.
- [13] G. Infante, *Eigenvalues of some nonlocal boundary-value problems*, Proc. Edinburgh Math. Soc., **46** (2003), 75–86.
- [14] G. Infante and J. R. L. Webb, *Loss of positivity in a nonlinear scalar heat equation*, Nonlin. Differ. Equ. Appl., **13** (2006), 249–261.
- [15] L. Kong and Q. Kong, *Multi-point boundary-value problems of second-order differential equations*, I, Nonlinear Anal., **58** (2004), 909–931.
- [16] M. A. Krasnosel’skii, *Positive Solutions of Operator Equations*, Noordhoff, Groningen, 1964.
- [17] R. Ma, *Multiple nonnegative solutions of second order systems of boundary-value problems*, Nonlinear Anal., **42** (2000), 1003–1010.
- [18] R. Ma, *Positive solutions of a nonlinear three-point boundary-value problem*, Electron. J. Differential Equations, **1999**, No. 34, pp. 1–8.
- [19] R. Ma, *Existence theorems for a second order three point boundary-value problem*, J. Math. Anal. Appl., **212** (1997), 430–442.
- [20] M. Maroun, “Existence of Positive Solutions to Singular Right Focal Boundary Value Problems,” Doctoral dissertation, Baylor University, Waco, TX, 2006.
- [21] Y. N. Raffoul, *Positive solutions of three point nonlinear second order boundary-value problem*, Electron. J. Qual. Theory Differ. Equ., **2002**, No. 15, (2002), pp. 1–11.
- [22] J. R. L. Webb, *Remarks on positive solutions of some three point boundary-value problems*, in “Dynamical Systems and Differential Equations, Proceedings of the Fourth International Conference on Dynamical Systems and Differential Equations (Wilmington, NC, 2002),” (eds. W. Feng, S. Hu, and X. Lu), Discrete Contin. Dyn. Syst. 2003, suppl., 905–915.
- [23] J. R. L. Webb, *Positive solutions of some three point boundary-value problems via fixed point index theory*, Nonlinear Anal., **47** (2001), 4319–4332.

- [24] Y. Zhou and Y. Xu, *Positive solutions of three-point boundary-value problems for systems of nonlinear second order ordinary differential equations*, J. Math. Anal. Appl., **320** (2006), 578–590.

Received July 2008; revised April 2009.

E-mail address: John-Graef@utc.edu

E-mail address: lingju-kong@utc.edu

E-mail address: byang@kennesaw.edu